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• ke=âheÙee peeBÛe keâj ueW efkeâ Fme ØeMve-he$e ceW cegefõle he=‰ 15 leLee ØeMve 18 nQ~ 
Please make sure that the printed pages in this 

question paper are 15 in number and it contains 

18 questions. 
• ØeMve-he$e ceW oeefnves neLe keâer Deesj efoÙes ieÙes keâes[ vecyej leLee mesš keâes Úe$e 
Gòej-hegefmlekeâe kesâ cegKÙe-he=‰ hej efueKeW~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• ke=âheÙee ØeMve keâe Gòej efueKevee Meg™ keâjves mes henues, ØeMve keâe ›eâceebkeâ DeJeMÙe 
efueKeW~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : B 
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• Gòej-hegefmlekeâe kesâ yeerÛe cesb Keeueer hevvee/hevves ve ÚesÌ[W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 
Candidates must write their Roll Number on the 
question paper. 

• ke=âheÙee ØeMveeW keâe Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination.  

meeceevÙe efveos&Me : 
General Instructions : 

 (i)   Ùen heÇMve-he$e leerve KeC[eW : `De' (Yeeweflekeâ efJe%eeve);          
`ye' (jmeeÙeve efJe%eeve); SJeb `me' (peerJe efJe%eeve) ceW efJeYekeäle nw~  

   This question-paper is divided into three 

Sections : 'A' (Physics); 'B' (Chemistry); and 

'C' (Life Science). 

 (ii)  meYeer KeC[ DeefveJeeÙe& nQ~ 

   All Sections are compulsory. 
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 (iii) yengefJekeâuheerÙe heÇMveeW kesâ efoÙes ieÙes Ûeej efJekeâuheeW ceW mes mener efJekeâuhe 
keâe ÛeÙeve keâj GvnW Deheveer Gòej-hegefmlekeâe ceW efueefKeS~ 

   Select the correct option out of the given 

four options of the multiple choice questions 

and write them in your answer-book. 

 (iv) Ún Debkeâ  kesâ oerIe& Gòej Jeeues heÇMveeW ceW Deebleefjkeâ efJekeâuhe keâe 
heÇeJeOeeve nw~ Ssmes heÇMveeW ceW mes Deehekeâes efoÙes ieÙes efJekeâuhe ceW mes 
kesâJeue Skeâ ner heÇMve keâjvee nw~ 

   Internal choice has been provided in long 

answer type questions of six marks. You 

have to attempt only one question of the 

given choice. 

 (v) ØelÙeskeâ ØeMve kesâ Debkeâ Gmekesâ meeceves oMee&Ùes ieÙes nQ~ 

   Marks of each question are indicated against 

it. 

KeC[ – De 

(Yeeweflekeâ efJe%eeve) 

SECTION – A 

    (Physics)  [ Marks : 20 

  1. (i) metÙee&mle kesâ meceÙe metÙe& kesâ jkeäleeYe heÇleerle nesves keâe keäÙee keâejCe    

nw ?    1 

  (a) mecepeve (b) ØekeâerCe&ve 

  (c) efJe#esheCe (d) hejeJele&ve 
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  The reddening of the sun at sunset is due 

to :  

  (a) accommodation  

  (b) scattering 

  (c) dispersion   

  (d) reflection 

 (ii) DeheJele&veebkeâ keâer FkeâeF& keäÙee nesleer nw ?   1 

  (a) keâesF& FkeâeF& veneR (b) [eÙeeshšj 

  (c) ceeršj (d) ieÇece  

  What are the unit of refractive index ? 

  (a) No unit (b) Dioptre 

  (c) Meter (d) Gram 

 (iii) heâeskeâme otjer keâer FkeâeF& keäÙee nw ?    1 

  (a) petue  

  (b) meWšerceeršj 

  (c) ieÇece  

  (d) [eÙeeshšj 
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  What is the unit of focal length ? 

  (a) Joule  

  (b) Centimeter 

  (c) Gram  

  (d) Dioptre 

 (iv) meewj Tpee& keâes efJeÅegled Tpee& ceW yeoueves Jeeues Ùeb$e keâes ............ 

keânles nwb~   1 

  A device which convert solar energy into 

electrical energy is known as ................ . 

  2. Tpee& kesâ keâesF& oes  veJeerkeâjCeerÙe œeesleeW kesâ veece efueKeW~ 2 

 Name any two renewable sources of energy. 

  3. Yet-leeheerÙe Tpee& keäÙee nesleer nw ? 2 

 What is geothermal energy ? 

  4. 2 mesceer uecyee efyecye 10 mesceer heâeskeâme otjer kesâ Gòeue ueWme kesâ cegKÙe De#e 

kesâ uecyeJele jKee nw~ efyecye mes ueWme keâer otjer 15 mesceer nw~ Øeefleefyecye keâer 

efmLeefle Je meeFpe yeleeSB~ 2 
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 2 cm long object is placed before a convex lens of   

10 cm focal length at a distance of 15 cm in 

perpendicular to optic axis. What will be position 

and size of the image formed ?  

  5. heÇkeâeMe kesâ DeheJele&ve keâes heefjYeeef<ele keâerefpeS~ mvesue kesâ DeheJele&ve kesâ 

efveÙece efueefKeS~ 4 

 Define refraction of light. State Snell's law of 

refractive of light. 

  6. otjÂef„ oes<e keäÙee neslee nw ? Fmes efkeâme heÇkeâej mebMeesefOele efkeâÙee pee 

mekeâlee nw ? efkeâjCe DeejsKe mes mecePeeSB~ 6 

 What is far-sightedness ? How it can be 

corrected ? Explain with ray-diagram. 

DeLeJee 

OR 

 ceeveJe ves$e keâe veeceebefkeâle efÛe$e yeveekeâj Fmekesâ efJeefYevve YeeieeW kesâ keâeÙe& 

efueefKeS~ 6 

 Draw a labelled diagram of human eye and write 

functions of its various parts. 
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KeC[ – ye 

(jmeeÙeve efJe%eeve) 

SECTION – B 

   (Chemistry) [ Marks : 20 

 7. (i) 2222 24 ClOHMnClHClMnO ++→+  ceW efkeâmekeâe 

DeheÛeÙeve ngDee nw ?   1 

  (a) 2MnO  keâe  

  (b) HCl   keâe 

  (c) 2MnO  Je HCl  oesveeW keâe  

  (d) efkeâmeer keâe veneR 

  In 2222 24 ClOHMnClHClMnO ++→+ , which 

one is reduced ? 

  (a) 2MnO  

  (b) HCl 

  (c) Both 2MnO  and HCl 

  (d) None 
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 (ii) MJemeve efkeâme heÇkeâej keâer DeefYeefkeÇâÙee nw ? 1 

  (a) T<cee#esheer 

  (b) T<ceeMees<eer 

  (c) mebÙeespeve 

  (d) keâesF& veneR 

  What type of reaction the respiration is ? 

  (a) Exothermic reaction 

  (b) Endothermic reaction 

  (c) Combination reaction 

  (d) None 

 (iii) ues[ veeFšŝš kesâ onve mes keäÙee Glheeo yevesiee ? 1 

  (a) Pb 

  (b) PbO 

  (c) 32OPb  
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  Name the product formed on heating lead 

nitrate : 

  (a) Pb 

  (b) PbO 

  (c) 32OPb  

  (d) 43OPb  

 (iv) meyemes DecueerÙe keâer pH keäÙee nesieer ?  1 

  (a) 2 (b) 4 

  (c) 5 (d) 6 

  What is pH of most acidic ? 

  (a) 2 (b) 4 

  (c) 5 (d) 6 

  8. efvecveefueefKele DeefYeefkeÇâÙee kesâ efueS meblegefuele jemeeÙeefvekeâ meceerkeâjCe efueKeW : 

 keâeye&ve [eFmeuheâeF[ + Dee@keämeerpeve →   
  keâeye&ve [eFDee@keämeeF[ + meuheâj [eFDee@keämeeF[  
  2 

 Write a balanced chemical equation for following 

reaction : 

 Carbon disulphide + Oxygen → Carbon dioxide + 

   Sulphur dioxide 
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  9. lesue SJeb JemeeÙegkeäle KeeÅe heoeLeesË keâes veeFš^espeve iewme mes heÇYeeefJele keäÙeeW 

efkeâÙee peelee nw ? 2 

 Why fat and oil containing foods are packed in 

nitrogen gas ? 

10. Decue keâes levegke=âle keâjles meceÙe Ùen keäÙeeW DevegMebefmele keâjles nwb efkeâ Decue 

keâes peue ceW efceueevee ÛeeefnS ve efkeâ peue keâes Decue ceW ? 2 

 While diluting an acid, why is it recommended 

that acid should be added to water and not 

water to acid ? 

11. Oeesves keâe mees[e Je yesefkebâie mees[e keâe met$e efueKeW leLee heÇlÙeskeâ kesâ oes-oes 

GheÙeesie yeleeSB~ 4 

 What is formula of washing soda and baking 

soda ? Write two uses of each. 

12. (a) jemeeÙeefvekeâ iegCeOeceesË kesâ DeeOeej hej ‘Oeeleg’ Je ‘DeOeeleg’ ceW efJeYeso 

keâerefpeS~   4 

  Write distinction between 'metals' and 'non-

metals' on basis of Chemical Properties. 



 ( 11 ) 2705/(Set : B) 

2705/(Set : B)  P. T. O. 

 (b) efvecveefueefKele DeefYeefkeÇâÙeeDeeW kesâ efueS meceerkeâjCe efueKeW :1 + 1 = 2 

  (i) Yeehe kesâ meeLe DeeÙejve~ 

  (ii) peue kesâ meeLe kewâefumeÙece~ 

  Write equation for reaction of : 

  (i) Iron with steam. 

  (ii) Calcium with water. 

DeLeJee 

OR 

 (a) efvecveefueefKele keâer heefjYee<ee oW : 1 × 4 = 4 

  (i)  efceßeOeeleg, 

  (ii) Deceueiece, 

  (iii) Keefvepe, 

  (iv) DeÙemkeâ~ 
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  Define the following : 

  (i) Alloys, 

  (ii) Amalgams, 

  (iii) Minerals, 

  (iv) Ores. 

 (b) Skeâ Oeeleg keâe veece oW :   1 + 1 = 2 

  (i) pees T<cee keâer kegâÛeeuekeâ nes~ 

  (ii) pees T<cee keâer megÛeeuekeâ nes~ 

  Give one example of metal which is : 

  (i) Poorest conductor of heat. 

  (ii) Best conductor of heat. 

KeC[ – me 

(peerJe efJe%eeve) 

SECTION – C 

    (Life Science)  [ Marks : 20 

13. (i) efvecveefueefKele ceW mes efkeâmeceW JeeuJe nesles nwb ? 1 

  (a) Oeceveer 

  (b) efMejeSB 

  (c) kesâefMekeâeSB 

  (d) FveceW mes keâesF& veneR 
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  Which of the following have valves ? 

  (a) Arteries 

  (b) Veins 

  (c) Capillaries 

  (d) None of these 

 (ii) efve<esefÛele Deb[ keâneB hej mLeeefhele neslee nw ? 1 

  (a) Deb[eMeÙe ceW 

  (b) Ùeesefve ceW 

  (c) hesâueesefheÙeve šŸetye ceW 

  (d) FveceW mes keâesF& veneR 

  Fertilized egg gets implanted in : 

  (a) Ovary  

  (b) Vagina 

  (c) Fallopian tube  

  (d) None of these 
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 (iii) efvecveefueefKele ceW mes keâewve-mee Sb]peeFce DecueerÙe ceeOÙece ceW keâeÙe& 

keâjlee nw ?   1 

  (a) hesefhmeve 

  (b) efš^efhmeve 

  (c) Sefceuespe 

  (d) ueeFhespe 

  Which of the following enzyme acts in acidic 

medium ? 

  (a) Pepsin 

  (b) Trypsin 

  (c) Amylase 

  (d) Lipase 

 (iv) Je=<eCe mes œeeefJele nesves Jeeues necees&ve keâe veece efueefKeS~ 1 

  Name the hormone secreted by testis. 

14. ÙeewJeveejbYe kesâ meceÙe ueÌ[efkeâÙeeW ceW keâewve-mes heefjJele&ve efoKeeF& osles nQ ? 2 

 What are the changes seen in girls at the time of 

puberty ? 
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15. heeÙe™Jesš keâe efJeKeb[ve Ùeermš Deewj nceejer hesMeer keâesefMekeâeDeeW ceW efkeâme 

heÇkeâej neslee nw ? 2  

 How does the breakdown of pyruvate occur in 

yeast and in our muscle cells ? 

16. Jee<heeslmepe&ve efkeâmes keânles nwb ? Fmekesâ keâeÙe& efueefKeS~ 2 

 What is transpiration ? Write its functions.  

17. uemeerkeâe efkeâmes keânles nQ ? Fmekesâ keâeÙe& efueefKeS~ 4 

 What is lymph ? Write down its functions. 

18. keäÙee neslee nw peye Deb[ keâe efve<esÛeve veneR  neslee ? 6 

 What happens when the egg is not  fertilized ? 

DeLeJee 

OR 

 efJeKeb[ve Deewj Keb[ve keâer efJeefOe keâe efJemleej mes JeCe&ve keâerefpeS~ 6 

 Describe the process of fission and 

fragmentation in detail. 

S 




